
Algebra	1	AIR	Questions	for	CH	2	
	
Find	the	first	step	where	an	error	occurs.		Then	find	the	correct	solution:	
	
	 Question	1	 	 	 	 	 	 	 Question	2	
	 Step	 Work	 	 	 Description	 	 	 Step	 Work	 	 	 Description	
	 		1	 2x	–	5	=	20	 	 	 	 	 	 		1	 2(x	–	4)	=	10	 	
	 		2	 2x	=	25		 	 add	5	 	 	 	 		2	 2x	–	8	=	20	 	 distribute	2	
	 		3	 x	=	23	 	 	 subtract	2	 	 	 		3	 2x	=	28		 	 add	8	
	 		 	 	 	 	 	 	 	 		4	 x	=	14	 	 	 divide	by	2	
	
	
	
	
	
	
	
	 Question	3	 	 	 	 	 	 	 Question	4	
	 Step	 Work	 	 	 Description	 	 	 Step	 Work	 	 	 Description	
	 		1	 2x	–	5	=	7	–	x	 	 	 	 	 	 		1	 2x	–	5	+	6x	=	35	 	
	 		2	 3x	–	5	=	7	 	 add	x	 	 	 	 		2	 4x	–	5	=	35	 	 subtract	2x	
	 		3	 3x	=	2	 	 	 subtract	5	 	 	 		3	 4x	=	40		 	 add	5	
	 		4	 x	=	2/3		 	 divide	by	3	 	 	 		4	 x	=	10	 	 	 divide	by	4	
	
	
	
	
	
	
	
	
	 Question	5	 	 	 	 	 	 	 Question	6	
	 Step	 Work	 	 	 Description	 	 	 Step	 Work	 	 	 Description	
	 		1	 2x	–	5(x	+	1)	=	20	 	 	 	 	 		1	 x/3	–	5	=	10	 	
	 		2	 2x	–	5x	+	5	=	20	 distribute	5	 	 	 		2	 x/3	=	15	 	 add	5	
	 		3	 -3x	+	5	=	20	 	 combine	like	terms	 	 		3	 x	=	5	 	 	 divide	by	3	
	 		4	 -3x	=	15	 	 subtract	5	 	 	 			
	 		5	 x	=	-5	 	 	 divide	by	-3	 	 	 	
	
	
	 	



Solve	each	of	the	following	for	x:	
	
Ax	+	B	=	3	 	 	 	 	 2	–	x	=	20	+	B	
	
	
	
	
	
2(x	+	A)	=	B	 	 	 	 	 6	–	x	=	x	+	y	
	
	
	
	
	
x•A•B	=	C	 	 	 	 	 x	–	A	=	B	+	C	
	
	
	
	
	
Ax	=	B	–	C	 	 	 	 	 A(B	+	C)	=	x	–	D	
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